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Algebra: Perimeter of Polygons
Add to find the perimeter of a polygon.

Step 1: Make a list of the
measurements of each side.
3.6m
5.4 m 36,54, 125,375
1.25m
3.75m

Step 2: Add.

3.6

54
1.25

+ 3.75
14.00

The perimeter is 14 m.

Multiply to find the perimeter of a regular polygon.

Step 1: Count the number
of sides.

The pentagon has 5 sides.

:\ 15cm

Step 2: Multiply the length of
a side by the number of sides,
when all sides are the same
length.

15 X5 =75

The perimeter of the polygon
is 75 cm.

Find the perimeter of each polygon.

1. 2. 1t

zmﬂ

10 mi 4 ft

3. 17 in.
16 in.
12in.
15in.

Use mental math to find the length of each missing side. Find the length of
a side of a regular polygon by dividing the perimeter by the number of sides.

4. any side of a square,
given P= 64 mm

5. any side of a regular
hexagon, given P= 66 m
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Perimeter of Polygons

Use the diagram and a metric ruler to solve
Problems 1-2.

1. Mr. Williams makes signs. A customer
brought him this design. Measure each
side to the nearest millimeter. Find the
perimeter of the sign and of the inside
rhombus.

Show Your Work

2. What is the length of each side of
AABC? What is the perimeter?

3. Mr. Williams would like to change the
design. He thinks the sign might look
better with a different polygon inside.
Draw a new inner polygon. All the polygon’s
vertices should touch the edge of the sign.
Measure the sides and find the perimeter.

4. Mr. Williams has two signs ready for deliv-
ery. They both have the same perimeter,
but one is a rhombus and the other is a
regular octagon. How does the length of a
side of one sign compare with the length
of a side of the other? Explain.
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